	CE 512 The Comprehensive Urban Planning Process
	Name: _jdf Solutions___

	Test 2 (7 questions on 7 pages)
	Thursday 6 May 2010

	OPEN BOOK AND NOTES  =66.4, =11.1
	1:00-3:00 PM, Room 117 ME


For each question, show enough of your work or provide sufficient explanation to allow the grader to follow your solution process and, in the case of an incorrect answer, award partial credit.

1. (14 points) A plaza for the Centennial Village TOD.  One design for a plaza next to the Ivy Tech-CityBus building has dimensions 47 ft by 51 ft.  In the plaza would be a wind-driven sculpture with many moving parts.  The café in the adjacent building will offer tables with 26 chairs for outdoor dining in the plaza.  Immediately adjacent to the plaza will be the tree-lined main walkway between the Ivy Tech classrooms and the CityBus Transfer Center.  Which of William Whyte’s seven ingredients seem to be present in the design?  Identify them.  Which ingredients seem to be missing?
[Whyte’s 7 ingredients were highlighted in the video, the web page for the 1 March 2010 class, and in the Comments for HW7.  The 7 items on 8JML185 are not Whyte’s and are for urban design, not plaza design.]
Present in the plaza design
· Streets = people on adjacent walkway.  [Whyte should use the word “sidewalks”, because he spoke only of people-watching in his video, not vehicles on streets.]
· Sun = OK, if buildings do not block the sun.
· Trees = “tree-lined main walkway”
· Food = “café in the adjacent building”
· Triangulation = “wind-driven sculpture with many moving parts”
Missing (at least in part)
· Sittable space = 26 chairs, but Whyte wants 1 linear foot per 30 square feet.  (See video and Problem 3 in HW7 Comments.)  47x51=2397 sq ft.  2397/30 = 80 lin. ft.  If each chair is worth 2 linear feet of sitting space, 80–(2x26)=28 more lin ft of sitting space needed.
· Water = none mentioned.  Wabash River does not count.
[3:30]
2. Models for Urban Planning.  

A. (7 points) Cohort-Survival.  If the number of females in the 30-44 age cohort for Year 2010 was changed from 1280 to 1486 in the handout updated 5 March 2010, how many males in the 0-14 age cohort would there be in Year 2025 after migration?

B. (7 points) Economic Base.  Add a 6th Industry with E6R=5000 and E6N=7.40E+06.  Calculate the Location Quotient for this new industry.  How many of the new jobs are “basic”?

A. 1280 ( 1486 females 30-44 in Year 2010. Cell D24
(28b) for cell G14:  1486*0.50*(1.00-0.48) = 386 male babies born to 30-44 cohort. G24
1451 male babies born to 15-29 cohort. G23
1451+386 = 1837 total males 0-14 pre-migration. G27
1760 males in 0-14 in Year 2010. C22
1760*0.05 = 88 males 0-14 moving in. 
1837+88 = 1925 males 0-14 after migration in 2025. E33
[4:35]

B. (46a) LQ6 = [image: image2.png]5000/(36,200+5000)
7.40/(62.147.4)



 = [image: image4.png]0.121
0.106



 = 1.13979 = 1.14
(46b) E6RB = 5000 – [image: image6.png][ 7.40 ]
62.147.4.



(36,200+5000) 

= 5000 – [0.10647](41,200) 
= 613 basic employees in Industry Code 6
[5:13]
3. Gini coefficient.  The head of the military has taken over the country of Notsogoodistan.  Although unelected, the general means well.  For instance, he is embarrassed that the Gini Coefficient for Notsogoodistan is 0.46.  Because he has good intentions and he has the power, he orders his troops to forcibly move households between towns, until the Gini Coefficient value in each town is as small as possible.  Assume that the income of every household remains unchanged.
A. (7 points)  What can you say about the Gini Coefficient value in each and every town in Notsogoodistan after the forced relocations?  Circle the correct answer(s):  G<0.46, G=0.46, G>0.46.  Explain.
B. (7 points)  What can you say about the Gini Coefficient value for the country of Notsogoodistan after the forced relocations?  Circle the correct answer(s):  G<0.46, G=0.46, G>0.46.  Explain.
A. G<0.46 is almost certainly the result for each town.  In fact G=0.00 is possible for each town, if households are grouped so that all households in a town have the same income.

B. G=0.46 remains, because the mix of household incomes for the country will not change.
[2:10]
4. Reading in Levy.  Concise answers in your own words.
A. (5 points) What is the difference between Cluster Zoning and Randall Arendt’s Conservation design?
B. (5 points) Explain the statement, “matters of [physical] design can have powerful social implications.”
C. (5 points) Economic Development Planning.  What are possible negative aspects of a government’s efforts to attract investment to its area?
A. 8JML161: Cluster zoning allows higher-density development to free up open space.  Conservation Design begins with Primary Conservation Areas (SNotes 19, p. 141) as unbuildable, then Secondary Conservation Areas, then roads, then lots.  Results of the two approaches could be similar (more open space), but first steps are actually opposite -- high density first vs. PCAs first.
[5:10]

B. Churchill quoted by Gov. Nelson Rockefeller in the Garden & Grid video: “buildings shape us”.  Physical surroundings can affect safety, efficiency, quality of life, etc.  Cite ideas by Alexander, Kunstler, Jacobs, et al. on this subject.
[2:05]

C. 8JML258: Town A’s gain is Town B’s loss.  A “zero sum game” in which government chooses winners and losers.  8JML251: EDA may have distorted markets, placing non-EDA areas at competitive disadvantage.  See box on 8JML253.  8JML256: tax abatements may forfeit revenues needed to cope with growth that has been induced.
[3:02]
5. (13 points) Rent Control.  Michael Keefer owns an apartment house that is subject to rent control.  You like the idea of renting an apartment whose rent can never be increased as long as you live there, so you approach Mr. Keefer about an apartment that has just become vacant.  Comparable apartments rent for $825 per month on the “free market”, but he is only allowed to charge $630 per month.  He is willing to agree to a 3-year lease at $630 per month if you (ahem) offer him some key money.  Explain or show (using cash flow diagrams and/or equations) how you would determine the maximum (one-time payment) amount Mr. Keefer would expect if he wanted to make up the difference between the free market and rent controlled monthly rent.  If you need it, use a 4.0 percent annual discount rate.
Keefer wants to make as much as $825-$630=$195 per month to reach the free market rent level.  If discount rate i=0.00, 36 months * $195/month = $7,020.
	The cash flow diagram would look something like this …
	[image: image7.jpg]A A A A A




	… but with 36 uniform “monthly rent differentials” A, not just the 5 shown.


P = $195*[image: image9.png]=135 (e



  is my attempt at deriving an equation.
[7:11]
Not necessary, but out of curiosity:   
P = $195*[image: image11.png]=135 (e



 by worksheet = $6604.80.  Better equation to use is [P|A,i,n] = 
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 = 33.871; $195 * 33.871 = $6,604.80.  
6. Guest speakers.  In the handout brought by Sallie Fahey, an article by Gerckens spoke of “Pyramidal Zoning”.  When Joe Bumbleburg talked about Euclidean zoning, he drew a sketch of the hierarchy of zoning districts.  

A. (7 points) Were Gerckens and Bumbleburg talking about the same thing?  Explain.
B. (7 points) Would the Hadacheck case been decided any differently had “Pyramidal Zoning” been in effect?  Explain.
A. Yes, because in each case, R1 is the most restrictive zoning and Industrial is the least restrictive.

No, if you emphasized that Pyramidal Zoning allows mixed land use, while “pure” Euclidean Zoning keeps LUs separate.
B. According to Gerckens, “I zones are really unzoned for all uses”.  This means that Hadacheck could stay, if his brick factory was in an I zone.  (Remember that the actual Hadacheck case arose before zoning began.)  Newer non-I uses could not force out any other LUs from an I zone.

[3:17]
7. Miniproject talks.  (4 points each)  Answer only four of the six parts (A-F) below.  Clearly indicate which four parts you choose.  If you answer more than four parts, only the first four parts that you answer will be graded.
A. Eminent domain: Poletown and Hathcock Cases in Michigan.  How can the urban planner affect the decision whether to use eminent domain?
B. Environmental Justice in the Bronx.  Will EJ be a major consideration in the Centennial Village TOD project?  Why (not)?
C. Reclaiming Historic Buildings in Lafayette.  See the 6 Apr 2010 electronic handout “City looks to beef up historic preservation rules”.  Would the Lafayette Armory project have been affected by the “proposed changes”?  Why (not)?
D. Filtering of Housing.  Explain the effect that rent control could have on the phenomenon known as filtering of housing.
E. Conservation Development in Kane County, Illinois.  Would Arendt give complete approval to Kane County’s program?  Why (not)?
F. Tallyn’s Reach Development.  If a tree with an 8-inch diameter must be taken down, how must it be replaced using smaller trees?
A. [20 stus chose this.] By recommending urban design ideas that minimize the need to use eminent domain.  Also, by foreseeing incompatible LUs and getting zoning changes as part of an update to the C.P.  Or clever use of Planned Development to get holdout owner(s) to see benefits of becoming part of the project.
B. [19] EJ does not seem to be a major obstacle to the TOD, because so few people live within the TOD site and improved transit service can only help protected groups.  Use T-accounts as basis for addressing “disproportionate impact” possibilities.  If any DUs are in TOD site, take action to relocate properly.
C. [8] No.  R. Mui’s handout says “Historic features … kept intact and restored: original arched windows, original hardwood floors, stage”.  Earned tax abatement.

D. [24] Rent control could make occupants reluctant to leave current housing for “better” housing, slowing down the filtering process.

E. [13] Complete approval if Kane’s 50-50-50 strategy allows development on no more than 50% of buildable land.  Ag easements preserve farmland.  Open space preservation is also goal of County Plan.
F. [20] Replace with 2 4-inch-diameter trees, 4 2-inch-diameter trees, etc.             [9:25] [45:38 total]
_1334751131.unknown

